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DEO MAIN – 2023 
 

TRIGONOMETRY AND GEOMETRY ASSIGNMENT 
 

PART – 1 
 
1. Find the radius of the incircle of a regular hexagon of side 6 cm 

6 nr.kP gf;f msT nfhz;l xOq;F mWq;Nfhzj;jpy; mike;Js;s 
cs;tl;lj;jpd; Muk; fhz;f. 
 

2. Find the six trigonometric ratios of the angle using the given 
diagram 
nfhLf;fg;gl;Ls;s glj;jpy; itg; nghWj;J 6 Kf;Nfhztpay; 
tpfpjq;fisf; fhz;f. 
 

 
 
3. A kite is flying at a height of 75 m above the ground. The string 

attached to the kite is temporarily tied to a point on the ground. The 

inclination of the string with the ground is 60˚ Find the length of the 
string, assuming that there is no slack in the string. 
jiuapypUe;J xU gl;lk; 75 kP cauj;jpy; gwf;fpwJ. xU E}y; 
nfhz;L jw;fhypfkhfj; jiuapd; xU Gs;spapy; gl;lk; 
fl;lg;gl;Ls;sJ. E}y; jiuAld; Vw;gLj;Jk; rha;Tf; Nfhzk; 60˚ 
vdpy;> E}ypd; ePsk; fhz;f. (E}iy xU Neu;f;Nfhlhf 
vLj;Jf;nfhs;sTk;) 
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4. Find the value 
2 2 27

6 6 3
Sin CoSec Cos

  
+  

kjpg;G fhz;f 2 2 27

6 6 3
Sin CoSec Cos

  
+  

 
5. Find the value of x 

x -d; kjpg;G fhz;f 

 
 
 

PART - 2 
 

6. Find the length of the chord of a circle of radius 6 cm subtending an 

angle of 165˚at the centre  

6 nr.kP MuKs;s tl;lj;jpd ikaj;jpy; 165˚ Nfhz msitj; 
jhq;Fk; ehzpd; ePsj;ijf; fhz;f.  
 

7. A ramp for unloading a moving track has an angle of elevation of 

30˚. If the top of the ramp is 0.9m above the ground level, then find 
the length of the ramp 

xU Rik Cu;jpapypUe;J (truck) Rikia ,wf;f VJthf 30˚ Vw;wf; 
Nfhzj;jpy; xU rha;Tj; jd;ik (ramp) cs;sJ. rha;Tj; jsj;jpd;> 
cr;rp jiuapypUe;J 0.9 kP cauj;jpy; cs;sJ vdpy;> rha;Tj; 
jsj;jpy; ePsk; fhz;f. 
    

8. Two ships are sailing in the sea on either sides of a light house. The 
angle of elevation of the top of the light house as observed from the 

ships are 30˚ and 45˚ respectively. If the light house is 200 m high. 
Find the distance between the two ships. ( )3 1.732=  

,U fg;gy;fs; fyq;fiu tpsf;fj;jpd; ,U gf;fq;fspYk; flypy; 
gazk; nra;fpd;wd. ,U fg;gy;fspypUe;J fyq;fiu tpsf;fj;jpd; 
cr;rpapd; Vw;Wf;Nfhzq;fs; KiwNa 30˚ kw;Wk; 45˚ MFk;. fyq;fiu 
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tpsf;fj;jpd; cauk; 200 kP vdpy;> ,U fg;gy;fSf;F ,ilNa 
njhiyitf; fhz;f ( )3 1.732=  

 

9. If cos x 3

5

−
= , lies in the third quadrant, find the values of other five 

trigonometric functions. 

cos x 3

5

−
= , x MdJ %d;whk; fhw;gFjpapy; cs;sJ vdpy;> kw;w Ie;J 

Kf;Nfhztpay; tpfpjq;fisAk; fhz;f.   
 

10. Find the value of x 
x – d; kjpg;G fhz;f. 

 
 

PART – 3 
 

11. Find the angle made by a ladder of length 4 m with the ground if its 
one end is 2 m away from the wall and the other end is on the wall. 
4 kP ePsKs;s Vzp Rtw;wpd; mbghfj;jpypUe;J 2 kP njhiytpy; 
rha;e;J itf;fg;gl;Ls;sJ vdpy;> Vzp RtUld; Vw;gLj;Jk; 
Nfhzj;ijf; fhz;f. 
 

12. From the top of a tower of height 60 m, the angles of depression of 

the top and the bottom of a building are found to be 30˚ and 

60˚respectively. Find the height of the building  
60 kP cauKs;s xU NfhGuj;jpypUe;J xU fl;lj;jpd; cr;rp kw;Wk; 
mb Mfpatw;wpd; ,wf;ff; Nfhzq;fs; KiwNa 30˚ kw;Wk; 60˚ 
vdpy;> fl;llj;jpd; cauj;ijf; fhz;f. 
 

13. The horizontal distance between two buildings is 140 m. The angle 
of depression of the top of the first building when seen from the top 

of the second building is 30˚. If the height of the first building is 60 
m, find the height of the second building. ( )3 1.732=  
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,uz;L fl;llq;fSf;F ,ilNaAs;s fpilkl;lj; njhiyT 140 kP 
,uz;lhtJ fl;llj;jpd; cr;rpapypUe;J Kjy; fl;lj;jpd; cr;rpf;F 
cs;s ,wf;ff;Nfhzk; 30˚ MFk;. Kjy; fl;llj;jpd; cauk; 60 kP 
vdpy; ,uz;lhtJ fl;llj;jpd; cauj;ijf; fhz;f ( )3 1.732=  

 
14. From a point on a bridge across a river, the angles of depression of 

the banks on opposite sides of the river are 30˚ and 45˚ respectively. 
If the bridge is at a height of 3 m from the banks, find the width of 
the river. 
xU Nkk;ghykhdJ Mw;Wf;F ,ilNa fl;lg;gl;Ls;sJ. Nkk;ghyj;jpd; 
NkypUe;J Mw;wpd; ,U fiufs; Kiwfs; 30˚  kw;Wk; 45˚  ,wf;ff; 
Nfhzj;jpy; ,Uf;fpwJ. NkYk; fiuapypUe;J ghyj;jpd; cauk; 3 kP 
vdpy; Mw;wpd; mfyk; fhz;f. 
 

15. The angles of a triangle are 3
2( 7), ( 1)

2
x x− − and 3( 11)x+ . Find x and then 

show that the triangle is isosceles. 

Kf;Nfhzj;jpd; %d;W Nfhzq;fs; KiwNa 3
2( 7), ( 1)

2
x x− −  kw;Wk; 

3( 11)x+  vdpy; x d; kjpg;G fhz;f. NkYk; ,J xU ,U rkgf;f 
Kf;Nfhzk; vd epWTf 
 
 


